10B Rules Derivatives

Rules For Finding Deriv
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10B Rules Derivatives

Constant Function Rule
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10B Rules Derivatives

POWER RULE
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10B Rules Derivatives

EX1 Find f(x) if f(x) = 3x7-4x6+x5+2x3-x2+4
2
§'60= Dy (3,"’- x +x°+ 250 -¥1+'-{>

= Dy (3 - D (4x°) +Du6) 41, (20)
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=3(3¢) -y (bx) + X2 (3x)
= 2x -2y Sx -2y



10B Rules Derivatives

Product Rule

If f and g are differentiable, then

D.(f(x)g(%))= 5 (x)DIg(¥)+ D.Lf(x)gx)

Pt produdck of fns

EX2  Find f(x) if f(x) = (2x3-4x+1)(3x+5).
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a) Use the product rule:
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b) Multiply out and use the power rule to check:
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Quotient Rule
Let f and g be differentiable functions, g(x) # 0,
then ) /() _g(x)D[f]-S)D.Ig()] Io d-he— l\i a-\o
T g(x) g% (x) ' I =
°o
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EX3 Find f(x) if f(x)=%
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10B Rules Derivatives

EX5 Find f'(x)iff(x)=§:§:11 (guo-ka\-l- r..A)

£y = GHAN(S) = (8x-4) ()
(x*+1)"

EX6 Find D,(») if y =3x(x’—2x+1) -3xq—6x;*3¥
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EX7 Find %ifyz;—?+% ==y .\.Z,("
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